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Q.7

Select the most appropriate ANTONYM of the given word. Questian ID 4735168
Chosen Opugn ;3
COURTEQUS
& ' incourteous
& 7 miscourteous

v discourteous
2 4 uncourteous
Select the most appropniate opiion to fill in the blanks. Question 0 - 4735163

iChasen Dpton |3
It is useless to tell her anything she never listens o any sugmestion

X * sothat

X 7 even though

v because

X ¢ therefore

Select the most appropriate option 1o fill in the blanks. Question ) 4735181

Chasen Opaon 1
We wamt electrician with _ good knowledge of English.

X 1 the, no word required
&2 thea

& ¢ an, the

W 2 ana

Fill in the blank with the most appropriate idiom, Question I} 47351620
Choset Ojlion ' 3

When the champion returned 10 his village, he was received
2 ' inthe air.

« © with open anms.

& 7 m his own light.

& ¢ in cold blood.

Select the sentence structure that is grammatically correct. . eation [ 47351818
¥ | There are many natural ways to get good sleep. R

7 7 Many natural ways there are to get good natural sleep. 00

7 * There are to get good sleep many natural ways. ‘\(b’

&< 1 Many natural ways o get good sleep there are. ‘Qb

Salact the most appropriate option to Gl kn the blanks * Qustion ) 4735164

Chosen Option 4
When | vistied my school in the village after fwenty 5w1.lﬂnmddwﬁt®im

X | has changed K
2 2 has been changing \(\(b
X = changed Q
'+ had changed
Select the most appropriate ANTONYM of the given word, Question ID - 4735168

Chosen Gpison -1
CONVENTIONAL

v ' unorthodox
2 2 common
X 1 predictable
X« ordinary




Q.8

Select the most appropriate option to fill in the blank.

The African elephant is of all land animals.

X 1 the larger
X 2 large

7< 3 more large
o « the largest

Quisstion ID 4735165
Chosen Option 14

a.e

a0

@1

Select the most appropriate option to fill in the blanks.

The doorbell rang thrice we were having dinner.

1 until

¥ = while

X 2 during

X s till

Select the correctly spelt word.
X 1 cumparative

X 2 comparetive

' comparative

# 1 comperative

Select the most appropriate synonym of the given word.
ABBREVIATE

& ' broaden

X 2 extend

v 1 abridge

# 4 expand

Q.72 T the flloning setance foar wards | phussesd have been nnderlived. Oine of them is incarrect. Select the INCORRECT

0.3  1nthe fllowing seeiencs foswaonds  phmses haov been underined. Coe of them b arect. Selact the
wod plrme fom e given opliom.

Ans

v ¢ plarase ot the glven opiians.

Salanec] tmgprees Sl s T 40,000 deui G their inenane Delpge crloalatng (o oms @

& 1 from
X 7 will have
v 2 deduct

Comesies Bl up i © 290 oo annul e will sow paying corpanss beg of 29, and oo

st the bt Fimncinl vear:
# 1 withupto

' = will now paying

X 2 they paid
X 2 until

Q}&‘

<

&

=

thaery i

Q.74 Inthe fiflowing sentence fier wionds | phrases hve besn nnderlined One of them is incorrest Selec the INCORRECT

Ans

wondplitmsd Bumi e gl cpilem.

Thae bles. muoe e UK veed indin hape bees srengshensd b the presence of many peopde of Indian ormgin UK

71 bythe
Xz nUK
v 3 among

L~

O

Question 10 4735162
Chasen Option 12

Question 1D 47351610
Chosen Option ;3

GQueation 10 4TIS166
Chasen Option 4

Question D 47351613

‘vw:l

Question [0 47351674
Chosen Opton 12

Ouestion D 47381812
Chosen Option: 3
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.18

Q.19

Q.20

Select the sentence structure that is grammatically correct.

Tfr;set your brain and body the single most sleep is effective way.
'li‘::e‘smgle most effective way sleep is to reset your brain and body.
S‘I':ql:i is the single most effective way to reset your brain and body.
S?l:e;: to reset your brain and body is the single most effective way.

Select the WRONGLY spelt word.
X1 girdle
X 2 glacier
X 1 gipsy
¥« gingar
Fill in the blank with the most appropriate phrase.

The present crisis willsoon .

X ' call off

X = getout

2 7 hold out

W'+ pass off

Select the correct passive form of the given sentence.

Let them finish digging for laying the pipeline.
v | Let the digging be finished for laying the pipeline.
X ¢ Has the digging finished for laying the pipeline?

% 5 The digging for laying the pipeline is being finished. O
X + The digging should be finished for laying the pipeline. b\(b

*

Select the correct active form of the given sentence,

N
Fortunately, not much damage was done by the fire. &
# 1 Fortunately, the fire hasn't done much damage. @‘b
X 2 Fortunately, the fire isn’t doing much damage, |
7 2 Fortunately, the fire hasn't been able to do damage,
C L anately,thgﬁredidn‘tdnmuchdnm@.

Select the most appropriate synonym of the given word.
VACANT

& 1 vertical

X 2 quit

5 1 occupied

o« empty

O

Question ID - 47351615
Chosen ledl‘m a

Question ID : 47351611
Choden Oystion 4

Question [0 47351619
Chuapn Dption 4

Question 1D : 47351617
Chogen Dption . 1

N

Question 1D 47351618
Chosen Option 1

Question 10 4735167
Chosen Option -4



Q.1 T April 2018, The Unkon Cabinet of Indis signed m srvanpemens berween India and Afhanisin for coopeamiion in ihe

feldal . OQuestion ID: 4735T62T
Ans o 1 food safety il

X 2 health and safety

X = tade safety

X & national safety
il 7 e e e o Question 1D 47381635
Ars 3 1 Panchatantra e i

¥ = Mahabharata

X 3 Abhijnana Shakuntatam

X + Ramayana
9%  Who invented the Crescograph, a device that measures growth in plants? Question ID - 47351632
Ass X 1. Dr Homi Jehangir Bhabha S

' = Sir Jagadish Chandra Bose
X 3 Sir Chandrasekhara V Raman
# 4 DrVikram Ambalal Sarabhai

e mﬂmmmﬁuﬁmmmm@”dhm”” Queatlon ID : 47351634
Ans 31 TRISTR-Cas9 i
2 2 GRSTR-Cas0
' & CRISPR-Cas9

X 1 EDITR-Cas9

Q.5  Who becams the first Indinn vroman wrestler 1o win gold medal In the Senjor Asian Chamgplonships™ Gusstion ID - 47351839

Ans 3K 1 Sakshi Malik Chosen Option :2
X = Kavita Devi
X 2 Vinesh Phogat
v+ Navjot Kaur

Q.6  ‘What is the siyle of post-lmpressionist paimting that makes uss of bold and fiat forms scparsied by dark comours? Ouestion |0 47351638

Ans oy Neo-impressionism Chosen Option |2

X = Symbolism

¥ 1 Cloisomnism O

X 4 Fauvism O
a7 mmmmm-;mlmmmmmmm{r (b‘ Queation 10 47351823
A X1 Tharkhand S Chosen Option:4

¢ 2 Chhattisgarh .\Q

X 3 Bihar ﬂ

v+ Uttar Pradesh (0,0
9%  What is the Chandrasekhar Limit? K& Question 1D | 47351632
Am  f | The maximum mass of a stable white d Chosen Opticn -1

X z Electrons degenerating under maximum pressure

X 7 Nuclear fusion, carbon detonation ink a supernova

7¢ 2 The maximum limit up to which a star's core resists heat
9% Ason April Ist 2018, who is the Prime Minister of Sri Lanka? Questian ID - 47351628
M+ 1 Ranil Wickremesinghe et

X 2 Chandrika Kumaratunga

# 3 Mahinda Rajapaksa
* 2 Ramazir Wickremanavake
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The Magna Carla was a charter signed by the monarch of which country? Qusstion I : 47351622
X1 D I Chsen Optisn 14

«' = England

X 3 France

& 4 Netherlands

- . ' :
Eﬂw.m#;hlﬂrmFMMLMImm Imicterinl cellulose witl sihver nen pariscies, Whal is Question 1D - 47351631

X 1 It helps in conduction of heat between materials i
X = It aids oxidation and proper circulation

#C 3 It detects foreign bodies and eliminates leakage

o' < It keeps vegetables fresh for a month

The annual meeting of the World Economic Forum is held in which city? Question (0 : 47351626
X 1 Baden Chosen Option : 2

& 2 Sion

v 1 Davos

X & Vevey

ﬂmmﬁlhnmmu h contan cagvas coaled with @ mixmire of chalk and gum mads from Question [0 - 4TI51657

X 1. Tanjore Painti Chiasin Oytion : 2

Thee Linking. -] | @ Sleaus nshuen of Uil S b il bk bak i U Dl r
mm"_:ﬁmq alswed & tnkiag | ] it Salery Puckaige i Giiesticn iD 1675

X 1 Lakshmi Vilas Bank e it

& 2 State Bank of India

X 1 Canara Bank

« ¢ HDFC Bank

What was “Sambad Kaumudi™? Question 10 47351621
7 1 A series of paintings based on the national movement Chosan Option 13

v A weekly newspaper started by Raja Ram Mohan Roy

X 3 A poets association started by Rabindranath Tagore ’\Q

X 2 A series of protests against British rule in India c)O’

Which team won the 2018 Sultan Azlan Shah Men's Cup? * @’ Cueation 1D 47351640
71 Malaysia . b\ Shnasnoptien

¥ = Australia %\Q

X 7 India CJ

# * South Korea @(b
Where is Samarkand located? (b\

' Tajikistan \Q

¥ = Uzbekistan Q

# = Afghanistan

& + Kyrgyzstan

In which of the following books did the fictionnl chapacter of Sherlock Holises st appess in? Question D : 47351636
& 1 The Valley of Fear Chasen Optien :3

# 2 The Hound of the Baskervilles

' 7 A Smdy in Scarlet

X 4 The Sign of the Four

Question ID ‘47351624
Chosm Opticn -1



avalem callad o predict weather s <limale sccurmely. B s el v Pl el e pog o o

A of | Mihir Chosen Oyptien ;1

& 2 Surya

& 3 Aditya

& 4 Ravi
| Casstion ID  AZE51630
Ans 2 1. 30-300 years Choasen Option 13

# 2 10-100 years
2 3 40-400 years
W 1 20-200 years

Q.1 Acay leaves Do bis hevse. He Gt walls %0 oo in the nood-wes direction nd ilen 40 o e thie south- wess direction
N, lie vl 30 m ko somlls #ndt directicn Finally. be tiiis towaids his hoise Tn which direction |5 be iooving now?

Ans K 1 South

Question ID , 47351643
Chosen Opiion ;3

X 2 North
v 5 North-east
& 1 South-east
| Ciation it 47E53 648
Stalemenis: Chogen Option 1

A) All organised people find time for rest
B) Neemj, to spite of his busy schedule, finds time for rest.

Conclusions:
1. Meersj is an crganisad person.
1L Neeraj is an mdustnions person.
Ans ¢ 1 Only conclusion I follows

27 FEither conclusion [ or Il follows
# 7 Only conclusion I follows

¥+ Both conclusions I and IT follow
| PRI S

Cock ! Crow :: Jackal: Chasen Option -1
Ans of 1 Howl

& 2 Croak

& I Low

& + Hoot

: v v " g, .. . . % Y}
Q.4 A questso m even llevwed by e dstanscts, Wihseh of % ilnsmes as sl o mise b g quesiion R an 10 - 47351648

s iiom: sen Option 1
In wiilels dipection s City A willy mspect lo Ciy 87 O *

o O

L City A os fo the torth of Cigy C wihnch i3 1o the west of City [d

.
1L, Clty A s o e posth-west af Cliy D N @
L ity € s o the morib-west of Ciiy B 6\

‘\Q

Ans o 1 Only statements I and IIT are sufficient

& 2 Only statements [ and II are sufficient O
2 7 All the three statements are necessary (b
0 1 Only statements IT and 111 are sufficient .&Q
Q5  Consider the following statements to be true and decide which of ioms logically follows fuestion 10 - 7351659
Statement: Q Chosen Option ;2
A) Some books are papers,

O} Some papers are peos.
Conclusions:
L All books are pens.
11, Some pens are books,
Ans 3 1 Only conclusion I follows

v @ Neither conclusion I nor IT follows
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Select the most appropriate altemnative for the following. Ouestion I0; 47351652
Chergion Option 4
Your friend has not invited you to her birthday party, You will ;

# 1 attend the party

X 2 ignore the whole affair
& 3 hold it against her

o + send her your wishes

Regan ranked 18% in a class of 50 students. What is his rank from the bottom? _
Vo33

o232
X 31
Ma 34

Choose the correct option to replace the quastion mark.

00

N\
{DQ

6\

O
N
XS

Deops s taller than Fasimos but N0 mller flmo ekha fekha and Meeen ace of the In shorter than ;
sanithn, Wha sninag them b the shorresr 2 Question ID 47351647

?c'l Q Chogen Option 12
v 2 Fatima Q

< 3 Sumitha

7 4 Neena

I 1 class, & sharlents Gait apast Froch, 15 et spasikc Hind sl  caet speak Brighih, T fhart dlis, ficr e o wpse Ak 5
ot Tgringe 17 2 simideants in the gronp can spaak two lnnguages and ong perkon can spenk all the hoos lanpoages, Ouestion ID 47357658
e how mary smdeis are Thers dn fhe clase? Chasen Dption 4

vin
Xz24
X320
’Ka2s
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Q.12

0.4

Q.18

Q.18

Read the following information carefully and answer the question that follows:

‘X # Y means Y is the mother of X';

X =Y' means *Y is the father of X*;

X =Y means “X is the sister of Y3

X § Y means “X is the brother of Y7;

X = Y means X is the daughter of Y,

“Which of the following options indicates that “M is the grandfather of N'7
K1 NSR+S+M

X2 QiM=R=N

X3 N+R+M

veR*N=SSL=M

T Kmmars Ganaly; ench duughier has the same number of hrothers a sl has sisters. and sach son has twice m many
aialers us he hna beothers. Fiow niany daughiers are there in the hmily®

X1 s
N2
g
X413

Bladkesh wndles § e brwmndts (e east nndd them b fams sonth and wadks 3 lan. Agnin, be turms el and wnlic 3 km. allsr
this, b mirns nevth sod walle 9 ko Heroe D s b now fran his sating paint?

v s5km
K2 25km
K3 55kn
X4 2km

‘When seen through a mirror, a clock shows 3:30. The correct time is:
K1 630

v B30

X3 3:30

4 930

Select the option (hat relates (o the third term in e same wiy & the second term relafes to the fGral term.
10:6:42:

X123

X216

X321

v

Find the missing term in the following series.

66000, 11000, 2200, . 183.33

Ans €1 440 Q(\
V' 550 (ﬁ
X 3 660 (b'
2 4 1100 R

<
6{0

Question ID 47351854
Chosen Option 1 4

Ouestion ID 47351644
‘Chosen Option 1 3

Question I0: 47351660
Chosen Option 1)

Queatlon ID-: 47351651
Chosen Option : 2

GQuestion I0: 47351650
Chosen Option 13

S

Question ID : 47351646
Chogen Cption =3

Q.17

.18

— hd
A growp of 1500 pecple comslsting of feachan and sradens ks rmvelling inn 1% smalenm there I one
ity How msry ienchen e there in the groug™

X185 Q

vz 90

X3 B0

Ka05

Pointing to Mesma, Vijny said, “She is the mather of my son's wife's daughier™. How is Vijay related 1o Meer?
# 1. Brother

v 7 Father-in-law

7 3 Father

X 4 Brother-in-law

Question I0; 7251655
LChosen Option -2

Queation I0 : 47251642
Choan Opfion ; 2-
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IfD=4. DAD =9, then DOCTOR =7
66
e 7s
A 5 68
K478

Il “eye” in called “hatl”, ‘hand” is callad “enr”, ‘enr” s called “neck”. and ‘peck” is called ‘moull’, with which of the
followmge woeld & petson hear?

v Neck
& 2 Hand
& 3 Mouth
# 4 Ear

Which one of the following is NOT a live attenuated vaccine?
X 1 BCG
X 2 Measles
v 2 Pertussis
& 4+ Oral polio
Ringer’s injection contains:
#1109 fructose and 0.9% sodium chloride
& 2 15% mannitol and 0.45% sodium chloride

ey
0.86% sodium chloride, 0.03% potassium chloride and 0.033% calcium chloride

& 1 0,9% sodium chloride and 0.2459% lactic acid

The National Leprosy Control Programme was launched in:
X1 1963
& 7 1968
W 3 1054-55
71 1978
la used ns an anticongalast in the Isbeestory 1o prevent clotting (o blood samples collected for mansfinio
& ' Dicumarol
' = Sodium citrate
# 3 Warfarin
# 4 Heparin
Benzoic acid, salicylic acid and Nystatin are agents used for the preparation of]
' 1 Antifungal ointments

§
QC)
@

X ¢ Anti-eczematous ointments
X 3 Antibiotic ointments
7 1 Emollients

The function of central drug laboratory is: N\
1 to issue loan licence \Q®
« 7 to analyse the samples of drugs or cusmé%
# 3 to issue manufacturing licence
7 1 to issue repacking licence

The drug which is indicated for patients at risk of Reye syndrome is:
X 1 Aspirin
X 2 Thuprofen

of o Acataminonhan

Question 04735

Chosen Gption :

Bumsiion IO

Chosan Dption

Queatian D

Question iD
Chogen Oplian

Questhan I

Questicn G

)

C)O

@0
>
$

Cuestion ID

Questian D

Chosen Option !

CQuesticn G

1656
3

47351645

CATI516E3
Chosen Opteon

(ATISVGER

d

(ATIS16E2
Chogen Option :

(ATE1694
Chosen Diption :

(ATISVGEE
Chosied Opdion |

e

(ATEST6100

2

(ATIS18ES
Chosen Dption :




Ans X1 Vitamin K it i

«' 2 Niacin

5 3 Vitamin Bg

& = Vitamin By
9% The first tranquilizer of phenothiazine group of compound is: Ouestian 10 47351691
an 1 Prochlorperazine i

X » Haloperidol

& 2 Thiothixene

'+ Chlorpromazine

9 Which of the following is the function of a clearing and forwarding agent? Question 1D : 47351668
Ans f 1 Chosen Option : 2
To submit the sales tax and other returns o the respactive authorities before due date
N2
To maintain adaquate stocks of the entire mnge of products marketed by the company
Kz
To purchase goods from super distributer and sell to smaller territory
X 4
To colleci the netumed goods from e markel snd armsipe for neplocesment s per the policiss of the comgusy
211 Which one of the following is NOT used in the treatment of diabetes insipidus? uestion 10 1 47351697
Ans X1 Indomethacin Chasen Dption ;3
v ° Ketoconazole
X 7 Amiloride
X 2 Vasopressin
%12 In selective inventory control, it is beneficial to combine: Question 1047351604
Ans 1 H-M-L and F-S-N methods i om0

v 2 A-B-C and H-M-L methods
& 2 S.D-F and X-Y-7 methods
X 4 §-0-S and X-Y-Z methods

913 pick the odd one from the following types of dressings. Question ID - 47351679
el Bandage Chogen Opsion: 2

v = Sanitation

X 3 Absorbent ﬂ(\

& 1 Protective OO ‘
214 Caleium gluconate can be assayed by: R @’ Question (D 47351667
Ams X1 redox titration b\ izl

v complexometric titration ‘\Q

X 7 precipitation titration (bC)*

75 4 acid-base titration

15 A liquid oral preparation, taken as a single dose, is rfgd: Question 10 : 47351661
= e Sioh O et
X 2 Elixir Q
X 3 Linctus
& 1 Collodion
Question 1D 47151671
Chosen Option : 4
X 2 Linsesd

# 3 Ginger
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Qa9

0.20

022

0.24

.25

NONLIN' 15 a programme winch predicts:
X 1 utilisation of medicine
W' = pharmacokinetic parameters
2 = batch number and date of expiry
X 4 stock position and shelf life

Choose the drug containing indole alkaloid.
71 Belladonna

7 Vasaka

«' @ Ergot

X 4 Opium

Which one of the following is a beta blocker?
7 1 Benazepril

# 2 Clonidine

o = Atenolol

7 2 Amlodipine

A rising creatinine level indicates:

X ' hypopimitarism

& 2 psoriasis

v 7 kidney damage

X 1 obstructive jaundice

Drug used in the treatment of leprosy is:

21 Cotrimoxazole

# 7 Sulphaguanidine

' 1 Dapsone

X = Sulpt | . dazi

Digitalis is most effective in patients exhibiting:

7 1 constructive pericarditis and cardiac tamponade

7 2 isolated mitral stenosis

77 heart failure due to ischaemia

W

heart failure with atrial fibrillation. flutter with fast ventricular rate
Which of the following is the chemical constituent of gelatina?

X 1 Lipid

v 2 Protein

X 3 Ester

X + Carbohydrate
Stimulation of the nicotinic receptor causes: \((\

v ' muscle contraction and twitching \Q(b

X 2 bradycardia Q

# 7 bladder muscle contraction

#C + increased secretion of saliva and gastric acid

Surgical dressings and fabrics can be autoclaved at a temperature of:
#1150 °C for 60 min

# 2 160 >C for 60 min
o 3 121 °C - 122 4C for 15 min

O
N
fo

Question ID 47351678
Chosen Dption | 3

Question I0: 47351672
Chosen Option -3

Question ID 47351608
Chogen Option ;3

Queation 1D 47351655
Chosen Option ;3

Question 10 47251692
Chosen Option:=3

Question ID 47351693
Chosen Option |4

)
00

Question 1D - 47351670
Chosen Dption 12

Questian 10 47351609
Choasen Oplian @1

Queation ID 47357664

Chosen Option 14
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Q.34

The causative organism of ‘trench fever' is:
X 1 R. akari

v : R quintana

X = R tsusuga mushi

X + R rickettsi

_are reabsorbed from the proxioal convoluted tubule by passive diffusion.
2 ' sodium, glucose, vitamin and amino acid

X 2 sodium and urea

X 2 chloride and potassium

¥+ chloride, sulphate, phosphate and urea

Indian senna is adultersted with .

X ' C. obovata

X 7 C. angustifolia

v © C. auriculata

# 4 Arabian senna

What is the pH level of intestinal juice?

Xt s-10

Xz2-4

v:7-9

X1 64-65

If the nehult dose |3 60 mg and the age of the child is 6 years, caleulste the child dose ting Dilling's mile.
o 1Bmg

X2 12mg

X3 15mp

X4 6mg

Which of the following is NOT an adhesive plaster?

7 ' Belladonna and capsicum plaster
v © Plaster of Paris

Clueation I0 . 47351681
Chosen Option - 4

Question D - 47351877
Chosen Dption 11

Cuesticn 1D 473516468
Choemen Opttion - 3

Queattan D dTIF16T4
Chosen Option ;3

Quiesijon ID 47351688
Chosen Option 11

Question I 47351663
Chosan Option ' 2

)
00

X 2 Zinc oxide plaster

7 2 Capsicum plaster @)

If | fl oz = 480 minim. how many millilitres are there in | fl 0z? 6\®’ Quastion i ATIS1663
#, 30 mL ‘Q Chosen Opon © 2

Xz 120mL *\

X3 60mL QCJ

X4 240 mL

Which one of the compounds listed below contains a free amino group? Question I - 4TIS1490
v Sulfacetamide AN SR

X = Succinyl sulphathiazole Q

75 1 Phthaly] sulphathiazole

# 4 Solapsone

Nesfield tablet contains: Question 1D 47351880
v 1 jodine, sodium iodide and citric acid s Govon )

X © bromine, iodine and sodium chloride
X 7 bromine, iodine and sodium iodide
75 1 jodine, sodium bromide and sodium iodide



0.36

o.aa

Q.40

If 1 1 oz =480 minim. how many millilitres are there in 1 fl 027
v 30mL

X7 120mL

23 60mL

K4 240mL

Which one of the compounds listed below contains a free aromatic amino group?
v Sulfacetamide

7 2 Succinyl sulphathiazole

5 Phthalyl sulphathiazole

X + Solapsone

Nesfield tablet contains:

o lodine, sodium iodide and citric acid

X 2 bromine, iodine and sodium chloride

Z 3 bromine, iodine and sodium iodide

#< + iodine, sodium bromide and sodium iodide
Calamine is:

71 zinc oxide with zinc stearate

o' 7 zinc oxide with a small proportion of ferric oxide

# 2 silicone polymer

7 4 zinc oxide with a small proportion of titanium dioxide
Touch, sight, hearing, taste and smell are controlled by the:
# 1 cerebellum

o' cerebrum

& 2 brain stem

X 2 medulla oblongata

Which type of suppositories are called Pessaries?
& 1 Urethral
v = Vaginal
X 3 Nasal
7 1 Rectal

P i 0 commonly wsed Lalin abbrevintion in prescription wriling. Wit b the English meaning eqaivalent of g
V' As needed
X = Every quarter of an hour
# 3 Every four hours
# 2 Shake the bottle

The hormones released from neurohypophysis are:
# 1 follicle stimulating hormone and luteinising ho:
7 = prolactin releasing hormone and growth b
w - antidivretic hormone and oxytocin Q
X « thyroid stimulating hormone and prolactin

O
N
S

Which one of the following dmgs is a saline cathartic?
7 1 Bismuth subcarbonate
# = Magnesium carbonate
& 3 Magnesium trisilicate
v+ Magnesium sulphate

*

Question ID 47351662
Chosen Option | 2

Queation 0 4TI51650
Chosen Gption 1 4

Question ID 47351680
Chiosen Option 1

Question 1D 47351666
Chosen Optlon 1 2

Question ID - 47351475
Chosen Option 12

Question ID ; 47351687
Chiosen Dption : 2

N

O Queation 10 47351684

©
6{0

Chosen Option |3

Question ID . 47351676
Chosen Dption: 3

Quesijon ID - 47351865
Chosen Option 1 4
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